Trigonometry - Equations and Identities Lesson #6: Sum and Difference Identities
Class Ex. #2

635
Express 15° as a difference of two special angles and hence determine the exact value
of sin 15° with a rational denominator
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;; Express 1; as a sum of two special angles and h gnce show that cot % = .
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Class Ex.#4 || Simplify the following
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Given cos A = i and cos B = 153 where 0 < A < g and ?ﬂ < B < 2x, find the
g %5 exact value of cos(A + B).

— A=l
. = CosA— casB - i s.aB s:..‘nA = b‘ 2
/
;zz W) - (%X ) L8 3
r=s -

es‘"'Ts'

X
3 ==|2
Lt 2
fa 13 = T
3
““" a Complete Assignment Questions #1 - #12 ﬁ‘l -
Copyright © by Absolute Val 00k is NOT covered by th&,ip /- agrgpment.
1= 1o, I d




